Year 4 Home Learning 11.5.20-15.5.20
Maths Answers
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(@ shode the huncred squares to represent 12 hundredths in
three different ways.  \/0Ui0W> GNIWerS.

Compare answers with a portner.

Wht i the some? What i different?
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Who do you agree with? _Llane
Explain why,
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Explain your onswer.

© e th decimls 0 e despions.
Some of the number con b descbed n two wos.
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@ compiete the sentence.

o divide by 100 you move the counters [ 2 ] places to

thecighs
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To diide by 100 you
move two place o the right,

) Exploin the mistake that Dora hos made.

) Complete the divsion.

asz100-[05 00
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(@ o Drow counters o show 8 on the place value chart.

00000000

b) Complete the divsion.

00%

) Drow countes o show your answer on the ploce volue chart.

l 00000000

What do you notice?
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0000000
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b) Complete the divsion.
os10-[0 5

) Drow countes o show your answer on the ploce volue chart.

000000
o0

What do you notice?
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© comviee he ckuions.
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What do you notce?

Dividing by 100
s always the zame as
diiding by 10 twice

Do you agree with Amir? 0

Explain your answer

(oY ——

Divide your numbers by 100, Record your answer. Rll again

Here is an example. ﬂm

100

36 100 and 63+ 100

ang[ ]+ 100

100 ang[ ]+ 100

Wht i the greatest possble answer you can get? | 0 0.

What i the smallest possile answer? o

Compare answers with a parter.
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(@ s Gottegno chartshows the number 37
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) Explin how you would work out 37 + 100 using this chart

o e don 2

Compare answers with a partner.

1) Use the Gottegno chart to complete the divsion.

2:100=[0

9 Use the Gattegno chart to complete the dvsion.

19100 =[011

[ —
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o[ ce-ss:10  @os=[50 |-100
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(@ o) Drow counters to represent 30 on the pace value chart.
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Complete the divsion.

0:10-[2

Draw counters t show your answer on the place volue chort.

000

b) Draw counters to show 35 on the place valus chart.

000

00000

Complete the divsion.

3s:10-[39)

Draw counters t show your answer on the place volue chort.

000 00000

9 What do you notice about your answers in parts @) and b7
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o a) The array shows 20 shared between 10

Complete the calculation,

20+10=[ 10

b) The array shows 4 shared between 10

Complete the calculation,

4510=9(]

 Complete the calculation.

2:10=[1.1

Compare answers with a partner.
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© compiete he divisions.
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Treed to move
the counters one place
o the ef, 20
7210-2

D0 you ogree with Teddy? N0
Exploin your answer.
3 3

) How can you use a Gattegno chart to dvide by 107
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You cart share
13 between 10 because 13 is
not a mtiple of 10

Do you agree with Rosie? A

Explain your answer.

© oot s coiaing 435 10
e @
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) Talk to @ portner about why Dexter's method werks.

b) Use Dexter's method to complete the divsions.

ss210-[56 naw0-[71
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@ Drow decimal ploce volue counters to represent the numbers.
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